H 31 Z =SAQ =7 5 X|LpZE Lof| CHE

might have 1t ZA}

could have I}H&A}

| might've watched that movie.

| could've watched that movie.

He might've finished it.

He could've finished it.

| might've been promoted.

| could've been promoted.

It might not have been a good plan.

It could not have been a good plan.

must have 1I}7{ & A}

47t EXE . You must've been wrong.
H3| JohnO| AL, He must've been John.
She must've won the lottery.
HAS| HIO[Z2 <0 | must've left my key on the table.

Ofa Cf mj & He must've worked so hard in his twenties.

You must've heard about your promotion.
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cannot have

could not have -~¢g 2|7t gict

H7t E&S 2|7t 8lof.

a7 Ao oS 217F §lof.
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You can't have been wrong.

You couldn’t have been wrong.

She can't have failed the test.

She couldn’t have failed the test.

| can't have left my key on the table.

| couldn't have left my key on the table.




